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GCSE (1 - 9)

Volume of Prisms

Instructions

» Use black ink or ball-point pen.

» Answer all Questions.

» Answer the Questions in the spaces provided

— there may be more space than you need.

» Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The marks for each Question are shown in brackets
— use this as a guide as to how much time to spend on each Question.

Advice
» Read each Question carefully before you start to answer it.
» Keep an eye on the time.

* Try to answer every Question.
» Check your answers if you have time at the end

mathsgenie.co.uk
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The diagram shows a prism.

Work out the volume of the prism.

12cm

...cm’

(Total for question 1 is 3 marks)

The diagram shows a triangular prism.
The cross-section of the prism is a right angled triangle.

Calculate the volume of the prism.

& cm

...cm’

(Total for question 2 is 3 marks)
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The diagram shows a prism.
The cross-section of the prism is a trapezium.

Work out the volume of the prism.

...cm’

(Total for question 3 is 3 marks)

The diagram shows a triangular prism.
The cross-section of the prism is a right angled triangle.

The volume of the prism is 198 cm’

Calculate the value of x

(Total for question 4 is 3 marks)
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The diagram shows a cuboid ABCDEFGH
ABCD is a square with area 25cm’.
CG=12cm.

Find the volume of the cuboid.

...cm’

(Total for question 5 is 2 marks)

Bob has a van.
He is using the van to deliver boxes.
Each box is a cuboid, 60 cm by 30 cm by 40 cm.

40 cm
30 cm
60 cm
The van has the space for the boxes in the shape of a cuboid with: length 3 m
width 1.8 m
height 2 m

Work out how many boxes can Bob fit into the van.

(Total for question 6 is 3 marks)
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7 The diagram shows a cuboid.

4 cm

12 cm

The volume of the cuboid is 120 cm®

Calculate the value of x

X cm

(Total for question 7 is 2 marks)

8 The diagram shows an empty water container.

Fiona is going to use a bucket to fill the container.
Each bucket can hold 12 litres of water.

How many buckets of water will be needed to fill the
container?

40 cm

50 cm

90 cm

(Total for question 8 is 4 marks)
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Here is a cube.

3cm

3 cm

Work out the volume of five of these cubes.

3cm

...cm’

(Total for question 9 is 2 marks)

10 The diagram shows an empty water container.

The container is going to be filled using a hose pipe.

How long will it take for the container to be filled
completely?

The water will flow into the container at a rate of 2 litres
per second.

50 cm

70 cm

120 cm

(Total for question 10 is 4 marks)
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11 The total surface area of a cube is 150 cm?.

Work out the volume of the cube.

...cm®

(Total for question 11 is 4 marks)

12 The diagram shows a water container.

) .2 .
The container is — full with water.

3
The water is going to be used to fill cups. 14 cm
Each cup golds 175 ml of water.
How many cups of water can be completely filled 12 cm
with water from the container

15 cm

(Total for question 12 is 4 marks)
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Here is a triangular prism.

The diagram shows a triangular prism.
The cross-section of the prism is a right angled triangle.

Calculate the volume of the prism.

;7 12cm——» /

...cm’

(Total for question 13 is 5 marks)
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